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ff{&4(—)MODBUS DATA ADDRESS

RS-485 / 232 (L3 %8k &)

[l =R * B £ # B
41025 | i ke 0 ~ 255 Word | R/W

0: 9600
41026 | #& = 1: 19200 Word | R/W

2: 38400

3: 57600

ERROR MESSAGE (4% :%3 )

a1 A ®LE £ # 5
A1793 | e 45383 4, 0~3 Word | R/W

CSP (Ri $-#ck 2 4)
dl -} - ®TE £k | AR

0: 100Hz

1: 50HZ
42049 | AD B~ 4g & 2: 25Hz Word | R/W

3:12. 5Hz

4:6. 251z

0:1

1: 2
42052 | B} %R 2: 5 Word | R/W

3: 10

4: 20

5: 50
42053 | F BRiE HEPER 0.00 ~ 10.0 5 (Default 1.0 %)) Word | R/W
42054 | F BRiE B F 0.00 ~ 10.0 %/ & (Default 0.5D) Word | R/W
42055 | * 48 € 3f HREF R 0.00 ~ 10.0 # (Default 1.0 45) Word | R/W
42056 | * B TLE B R 0.00 ~ 10.0 % & (Default 0.5D) Word | R/W
40275 | F B4 0 ~ 9999999 2Word | R/W

CALIBRATION (Far =i % £)

[l 4 - H R A £k | H#B
42305 | AD p 3R iE 2Word | R
42307 | &1 & 2Word | R
42309 | < £ & (Gross) 2Word | R
42311 | #£ & (Net) 2Word | R
42315 | £ £ & (Tare) 2Word | R
42561 | &~ =8 0 ~ 9999999 (Default 9999999) 2Word | R/W
42563 | F BEp 3N E 0 ~ 9999999 (Default 35000) 2Word | R/W
42565 | e B 1 pRRiE 0 ~ 9999999 (Default 250000) 2Word | R/W
42567 | fer gl €8 & 0 ~ 9999999 (Default 20000) 2Word | R/W
42569 | it g2 pIRE 0 ~ 9999999 (Default 0) 2Word | R/W
42571 | R g2 EE & 0 ~ 9999999 (Default 0) 2Word | R/W
42573 | fe+ gL 3 P RRiE 0 ~ 9999999 (Default 0) 2Word | R/W
42575 | g3 £ R E 0 ~ 9999999 (Default 0) 2Word | R/W




Flag Memory Map (OEf=% %)

= B LR | 45 | =% L H % I
0002 | B 1 Bit R 0513 | fem % mdy » 4 Bit W
0005 | B = £ G Bit R 0514 | oo & B8 1 g ~ 4 Bit W
0006 | 357 % £ G Bit R 0515 | fei & £ 82 3 ~ 4 Bit W
0007 | % mr#ik Bit R 0516 | fxo & £ 8 3 93 ~ 4 Bit W
0008 | # Rt Bit R
0010 | Zero Band ## & Bit R 0769 | A4+ fei 58 Bit W
0770 | 4t 73 58k Bit W
0257 | b 24 Bit W OTTL [ ivde i S Bit W
0258 | A £4 Bit [ 0772 | % Pw 7 Bit W
0259 | = £ & 7 s Bit [ 0773 | 5 n AR Bit W
0263 | % A £4 Bit W




